Ne ApTHUKYI HamMeHOBaHME Koxn
1.1 |168FG-C Ieurarens G220 1
1.4 BonT M6x12 1
1.5 KpoHmTemH 1
2.1 [IlpokJlagka IJIyWUTEJS 1
2.21919-945-2.2 TymmMTes b 1
2.3 llarBa 2
2.4 T'arika M8 2
2.5 Koxyx IJymmTesis 1
2.6 Bosr M6x12 6
2.7 Bosr M8x16 2
2.81919-945-2.8 KpoHWTEeVH TJIyLMTeJIsS 1

Mogpernb

T'enepaTop 6eHBMHOBHM G220

Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA |

Page 1




Ne ApTHUKYI HamMeHOBaHME Koxn
3.11919-945-3.1 T'enepaTop (sxopb+cTaTop) 1
3.2(919-945-3.1 T'enepaTop (sxopb+cTaTop) 1
3.3120-0007 Kprllka I'eHepaTopa 1
3.4 120-0009 lleTxkM 1
3.5(919-945-3.5 IMOOHEI MOCT 1
3.6 Bosr M5x16 4
3.7120-0001 Biox AVR 1
3.8 Bosr M5x12 5
3.9 Bosr M6x130 4
3.10 Bosr M8x202 1
3.11/919-945-3.11 Kprllka I'eHepaTopa 1

T'enepaTop 6eHBMHOBHEM

MomeJsb

G220

Technical department

Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA |

Page 2




Ne ApTHUKYI HamMeHOBaHME Koxn
4.1 Bonr M6x22 4
4.2 Mlamba 4
4.3 Brynka 4
4.4 T'arika 4
4.51919-945-4.5 Bak TONJIMBHLI 1
4.6 115-188-001 [IlpoBkra Baka 1
4.7 |15-188-002 dubpTpP 1
4.8 BuHT -
4.9 JaTuyk yPOBHHA -
4.10(14-168-10A KpaHuk 1
4.11/14-168-007 IinauT 1
4.12]15-188-006 BaxumM 2
5.1 Brynka 1
5.2 Kpellka 3aOHAL 1
5.31919-945-5.1 [laHesb 1
5.4 Boyr M6x12 4
5.51(919-945-5.5-2 BHIKJIIOUATEJIb 1
5.6 1919-945-5.6 BonpTM™MeTp 1
5.7 1919-945-5.7-1 BokjouaTeJib aBT. 220B 1
5.8 |20-0010 PozeTka 1
5.91]919-945-5.9 BeIkJiouaTesb aBT. 12B 1
5.10 Baxum 2
6.1 [lanesnsb 1
6.2 Boyr M6x12 2
6.3 Pama 1
6.4 T'arika M8 4
6.51919-945-6.5 Bubporacuresb 2
6.6 1919-945-6.6 Bubporacuresb 2
6.7 1919-945-6.7 Hoxka pesmHOBafd 4

MomeJsb

T'enepaTop 6eHBMHOBHEM

G220

Technical department

Assembly drawing

Engineer,

chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT,

USA

Page 3




Ne ApTHUKYI HamMeHOBaHME Koxn
1 |01-168-001 TojloBka UMIMHIpPa B cOope 1
2 101-168-002 linunpka kKapbopaTopa 2
3 101-168-003 Brynka @10x14 2
4 101-168-004 [IpokJjlamka T'OJIOBKM 1
5 101-168-005 nmiabkKa ITJITYLUTEJIS 2
6 |LR5YC CeBeua zBaxmuraHmusa LR5OYC 1
7 [01-168-007 BOJIT TOJIOBKM LMJIMHIOPA 4
8 |01-168-008 [IpokJylamka KJall. KPBIIKY 1
9 |01-168-009 Kpelllka KJIarnaHoB 1
10 |01-168-010 BosiT kJlallaHHOM KPBIIKM 4
11 |01-168-011 TpyBka oTBOIa I'a30B 1

T'enepaTop 6eHBMHOBHEM

MomeJsb

G220

Technical department

Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT,

USA

Page 4




Ne ApTHUKYI HamMeHOBaHME Koxn
1 |02-168-001 Ounuenp (pydH. CTapT.) 1
2 102-168-002 CallbHMK KOJIeHBaJla 2
3 102-168-003 llarBa ronm OoJT 2
4 102-168-004 BoJsT CHIMBHOT'O OTBEPCTUS 1
5 ]102-188-004 Peyle pmaTumka Macja 1
7 102-168-007 JaTuMk YypPOBHS MacJja 1
9 |02-168-009 llecTepHsa per. OOOPOTOB 1
10 |02-168-010 HooumnHuk k/B 6205 1
11 |02-168-011 Maba 4
12 |02-168-012 Baxum 1
13 |02-168-013 Pouar Bajla per'. 0DOPOTOB 1
* 102-168-000 Habop npoxkJyanok 168F

T'enepaTop 6eHBMHOBHEM

MomeJsb

G220

Technical department

Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT,

USA

Page 5




Ne ApTHUKYI HamMeHOBaHME Koxn
1 |03-168-001 [Ipobka (uyr) 2
2 |103-168-002 BoanT M8x32 6
3 |03-168-003G Kprlika kapTepa 1
4 102-168-002 CaJlbHUK KOJIeHBajia 1
5 102-168-010 [MogmmMnHUK KoJieHBajia 6205 1
6 |03-168-006 BryJska 2
7 103-168-007 [IpokJjlamka kKapTepa 1
MonmeJsib
T'enepaTop 6eHBMHOBHM
paTop G220
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA | Page 6




Ne ApTHUKYI HamMeHOBaHME Koxn
1 |04-168-001 Konbuo nopmHeroe 68x1,5 1
2 |04-168-002 Komblo CcTONOpPHOE 2
3 104-200-003 [MopmeHb @68x49Mm 1
4 104-168-004 [lajylely NOpHHSA 1
6 |(04-168-0006 lMaTyH 1
7 104-168-007 linoHka MaxoBMKAa 1
8 |04-168-008C1 KosenBag 1
Mogpernb
T'enepaTop 6eHBMHOBHEM
paTop G220
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA | Page 7




Ne ApTHUKYI HamMeHOBaHME Koxn
5 ]05-168-005 KpoHWTENH KOPOMBICEJI 1
6 |05-168-006 llTaHnTra TOJNIKATEeJS 2
7 105-168-007 Tapejika TOJIKATEJS 2
8 |05-168-008 PoTaTop 2
9 |05-168-009E CTomnop NPYXWHBEl BHII. KJI. 1
9a |05-168-0091 CTomnop NPYyXWHEl BII. KJI. 1
10 |05-168-010 [IpyXMHa KaraHa 2
11 |05-168-011 MaCJIOCBEMHEIM KOJIITAUEK 1
12 |05-168-012 Kitamasel Habop 1
13 |05-168-013 PacnpeneaJg 1
14 |05-168-014 Kopomeicio Habop 2
Mogpernb
T'enepaTop 6eHBMHOBHM G220
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA | Page 8




Ne ApTHUKYI HamMeHOBaHME Koxn
4 |07-168-004 Koxyx MaxoBUKa 1
7 |168F1A Craprep B cbope 1
16 |07-168-016 Pyuka cTapTepa 1
17 |241-604 Ilnyp craprepa 4,5 MM 1
* |X16011-RK PeMKOMJIEKT cCTapTepa 1
Mogpernb
T'enepaTop 6eHBMHOBHEM
paTop G220
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA | Page 9




Ne ApTHUKYI HamMeHOBaHME Koxn
1 |08-168-001 [IpokJlamka TeIJIOM30JIaTopa 1
2 108-168-002 TerJon30JaTop 1
3 108-168-003 [IpokJjlamka kapbopaTopa 1
4 108-168-004 [IpokJjlamka kopnyca B 1
5 |08-168H-005 KapbopaTop 1
Monmesnb
T'enepaTop 6eHBMHOBHM
paTop G220
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA | Page 10




Ne ApTHUKYI HamMeHOBaHME Koxn
10 |10-168-010 [Ipyx1Ha pHYaTra 1
13 |10-168-013 Pouar peryngaropa 1
14 |10-168-014 [IpyXMHa TAITU 1
15 |10-168-015 Tara peryjasaTopa 1
16 |10-168-001 [laHesb ynpaBJIEeHUSA 1
Monmerib
T'enepaTop 6eHBMHOBH
paTop G220
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA | Page 11




Ne ApTHUKYI HamMeHOBaHME Koxn
1 |11-168G-001 Kopnyc B/0 1
AT802-HD160-04 OUIIBTP BO3AYWHBIN 1
o
2
é%
MonmeJsib
T'enepaTop 6eHBMHOBRM
paTop G220
I Technical department Assembly drawing
1 Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA | Page 12




Ne ApTHUKYI HamMeHOBaHME Koxn
2 115-168-002 MarHeTO 1
3 |15-168-003 Konmnauexk CBeYHOM 1
5 |15-168-005 MaxoOBUK (Py4YHOM CTapTep) 1
11 |15-168-011 KpellbuaTka MaxoBUKa 1
12 |15-168-012 XpamnoBuK cTapTepa 1
13 |15-168-013 T'alika MaxOBMKA 1
14 |04-168-007 linoHka MaxoBUKa 1
Mogpernb
T'enepaTop 6eHBMHOBHEM
pawop G220
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA | Page 13




Ne ApTHUKYI HamMeHOBaHME Koxn
1 |15-188-001 [IlpoBbra Bezobaka F60Mm 1
2 115-188-002 OunbTP TONMNMBHE 60MM 1
6 [15-188-006 Baxmum 2
7 |14-168-007 IlJIaHT TOIJIMBHEIN 1
10 |14-168-10A KpaHuk TOmMJ. (BEX.BJIEBO) 1
14-168-10B KpaHuk Tomi. (BEX.BIPAaB.) 1
14-168-10C KpaHuk TomJ. (BHYTP.) 1
Mogpernb
T'enepaTop 6eHBMHOBHEM
paTop G220
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA | Page 14




